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ACHIEVEMENT 

Question 1 – This answer provides evidence of a basic nature across all three 
sections, although there are inaccuracies present throughout. There is some attempt 
to answer the questions posed. Overall, there is evidence of understanding of the 
gist of the text. For this reason it scores A4. In order to achieve M5, it would need to 
show a more accurate understanding of more than the gist of the text. 

Question 2 – This answer shows a basic level of understanding of the text in all three 
sections, again attempting to answer the questions but with some 
misunderstandings. There is overall, enough evidence of comprehension to award 
A4.  

Question 3 – This answer provides evidence of a basic nature across all three 
sections, although there are inaccuracies present throughout. There is some attempt 
to answer the questions posed. Overall, there is evidence of understanding of the 
gist of the text. For this reason, it scores A4. In order to achieve M5, it would need to 
show a more accurate understanding of more than the gist of the text. 


